—. BEEELHEH
83 X /=

174 x 4=
20 = 2=
20 X /=

—. JEKXITE
700 + 7=

934 + 3=

=. BRIt E
25x5=5

10 x 7+321

g3

SFERHMETHTED

A: R 4

60 x 9= 53 x 2=
311 x 6= /70 x 8=
10 x 50= 386 x 8=
360 x 2= 50 x 5=
17 x 14= 240 - 2=
85 x11= 370 + 3=

10x18+10

19 x 4-22

50 x 20=
/6 = 4=
210 x 5=

334 x 9=

777+ 7=

61 x 11=

2061 -9 x 23

(261-198) + 9




—. EESHEH
80 x 6=

50 x 2=
370 x 9=

50 x 20=

—. BT E
660 =~ 3=

905 = 5=

=. RHE
115 +5x%x 6

168 + 7 x 23
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SR FTHTE™D
2Z:

X %5

484 x 3=

210 x 3=

85 = 5=

10 x 3=

72x11=

502 = 9=

216 +9x24

(1+12) x 6

12 + 2=

437 x 5=

30 x 9=

40 x 20=

330 + 3=

62 x 11=

80 x 9=

275 x 9=

416 x 4=

17 X 2=

35 X 69=

809 + 4=

(156-137) x 10

15 x 5-62




—. BEEELHEH
10 x 3=

261 x 4=
81 + 9=
180 x 3=

—. HERAHE
840 = 2=

20x 11=

=. BRITE
40 = 2-10

(86-46) = 8
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SFERHMETHTED

A: R 4
270 x 8= 20 x 30=
10 x 5= 496 x 3=
459 x 7= 18 =~ 3=
430 x 2= 46 x /=
29 x 43= 47 x 11=
330 = 5= 532 + 6=

23xXx9+9

(33+9) = 6

83 X 8=

20 x 9=

50 x 3=

80 x 60=

440 + 4=

602 = 4=

21 x7+7

140 + 7 x 13

Ay
&

=)



SFERHMETHTED

Hwa: B4
—. BEEEHEH
88 =~ 4= 240 x 5= 50 x 30= 50 x 7=
349 x 6= 419 x 4= 52 - 4= 10 x 20=
245 x 9= 17 x 3= 210 x 6= 62 X 4=
199 x 4= 20 x 5= 30 x 4= 90 x 7=
—. NESXIHE
660 = 3= 02 x 11= 46 x 11= 66 x 24=
551 + 4= /16 = 3= 360 = 4= 480 ~ 4=
=. BRIt E
(233-193) = 2 162 -9 x 14 230+-10x 19
198 -9 x 4 (133-121) x 2 160 - 8-10




SFERHMETHTED

Hwa: B4
—. HESHEH
156 x 3= 420 x b= 362 X /= 69 = 3=
40 x b= 70 x 50= 60 x 4= 50 x 10=
442 x 4= 10 x 6= 63 = /= 400 x 8=
70 x 3= 25 x 8= 415 x 7= 99 x 6=
—. FIERitE
500 = 5= 618 - 6= 100 = 2= 01 x 73=
89 x 11= 082 ~ 6= /8 x 11= /25 +~ 2=
=. BRIt E
30x7 =7 30x4 =6 126 -9 x 2
60 = 3-10 (2+2) x 4 19 x 9-20
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SFERHMETHTED

Hwa: R 2
—. HESHEH
208 x 7= 80 x 8= 60 x 40= 413 x 4=
80 = 4= 90 x 3= 10 x 60= 499 x 8=
40 x /= 311 x 8= 350 x 2= 400 x 3=
80 x 4= 90 x 6= 79 x 8= 24 = 4=
—. FEXITE
84 x 36= 720 + 6= 880 =~ 8= 81 % 11=
592 +~ 8= 83 x 11= 849 = 2= 699 ~ 6=
=. BRIt E
17x8=+8 15x9+9 20 x 9-40

19 x 2+29 17 x 8-44 126 -9 x 16




—. EREELHRFH
51+ 3=

90 x 50=
/6 X /=

445 x 6=

—. SERXiTE
85 x 64=

840 + 6=

=. RHE
224 = 8 x 28

(11+5) x 10
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SR FTHTE™D
2Z:

X %5

86 X 2=

50 x 7=

211 x 5=

50 x 6=

94 x 11=

834 + 6=

25x10=10

(7+8) x 5

20 x 80= 240 x 6=
210 x 5= 473 x 2=
36 = 2= 10 x 5=
10 x 3= 132 x 8=
660 = 3= 73 x 11=
464 - 3= 610 =~ 6=
23x5=+5
(4+92) ~ 6




SFERHMETHTED

Hwa: B4
—. HESHEH
483 x 6= 30 = 3= 90 x 30= 77 X =
348 x 9= 150 x 8= 12 X 3= /70 x 5=
54 =~ 9= 50 x 90= 378 X 3= 240 x 6=
90 x 9= 10 x 7= 80 x 5= 406 x 5=
—. NESXIHE
71 x11= 560 = 8= 33 x 11= 82 x 36=
/50 +~ 5= 665 ~ 5= /98 + 8= 516 - 5=
=. BRIt E
19 x 6+69 16x12 =8 126 =-7x%x13
(2+22) + 8 15%x 14 +10 98 + 7+15
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SFERHMETHTED

2 i 4% -
—. HESHEH
80 x b= 120 x 6= 292 x 9= 14 =~ 2=
360 x 5= 10 x 70= 80 x 40= 398 x 8=
40 x 9= 30 x 4= 86 x 9= 488 x 4=
60 x 3= 02 x 7= 299 x 6= 36 = 4=
—. FEXITE
36 x11= 550 + 5= 448 = 4= 74 x 54 =
29 x 11= 860 = 2= 655 = 2= 657 ~ 7=
=. BRIt E
114 +-6x%x13 13x9=9 (114-101) x 6
21x6+9 18 x 9-26 30 = 5+34




SFERHMETHTED

Hwa: R 2
—. HESHEH
80 x 9= 50 x 50= 48 =~ 8= 227 X 2=
460 x 5= 20 x 9= 319 x 3= 410 x 8=
113 X 6= 20 x 30= 488 x 6= 40 x 8=
90 x 3= 86 x 5= 69 x 4= 54 + 2=
—. FEXITE
40 x 11= 800 = 2= 17 x 11= 62 x 90=
390 = 3= 346 - 4= 807 = 3= 796 +~ 3=
=. BRIt E
140 +-7x%x9 133+7 x4 19 x 10-25
150 +6 %9 15x9+170 (136-122) x 4




SFERHMETHTED

Hwa: B4
—. HESHEH
80 x 3= 376 X 2= 480 x 2= 97 x 9=
90 x 5= 56 = 8= 46 x 5= 422 x 5=
20 x 20= 10 x 3= 140 x 4= 20 x 4=
36 = 4= 20 x 10= 365 x 4= 466 x 3=
—. NESXIHE
16 x 16= 380 = 2= 340 =~ 2= 702 - 2=
82 x11= 63 x 11= 535 = 2= /83 - 6=
=. BRIt E
10x13+5 12x21+9 8 x6+12
140 - 7-10 190 - 10 x 24 (1+7) x 4
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